
Module 105 - Runoff Computations Activity Questions 
 
1. Numerical solution of runoff equation 
 

a) Solve Q for P = 6.25 in and CN = 70. 
 
 

b) Solve Q for P = 3.2 in and CN = 66. 
 
(Refer to page 13 in Module 105 for Solutions) 
 
2. TR-16 tabular solution 
 

a) Estimate Q for P = 3.4 in and CN = 77. 
 
 

b) Estimate Q for P = 3.2 in and CN = 66. 
 
(Refer to page 14 in Module 105 for Solutions) 
 
3. Graphical solution 
 

a) Estimate Q for P = 6.0 in and CN = 70. 
 
 

b) Estimate Q for P = 6.1 in and CN = 73. 
 
(Refer to page 15 in Module 105 for Solutions) 
 
4. TR-55 tabular solution 
 

a) Estimate Q for P = 6.0 in and CN = 70. 
 
 

b) Estimate Q for P = 6.1 in and CN = 73. 
 
(Refer to page 16 in Module 105 for Solutions) 
 


